
En t’aidant de la droite graduée, trouve le nombre manquant à 

l’opération : 

17 + …… 3…. = 20 

 

 

31 + ……9….. = 40 

 
 

42 + …8….. = 50 

 

 

33 + …17……= 50 

 

 

 

Compte puis écris le nombre de pavé ci-dessous :  

 

     

 

 

 

Il y a ………9…. pavés. 

31 

17 

42 

17 

77 

85 

63 

79 

50    54 55  57 58 

 61 62   65   68 69 

70  72 73 74  76 77 

  82   85  86  89 

90 91  93 94  96 97 



 

 

 

 

 

 

 

3 

 

4 

 

6 

6 

 

8 

11 

 

12 

6 

 

8 

 

11 

6 

 

11 

7 

 

12 

 

23 

50 

 

60 

74 

 

8 

 

11 

3 

 

7 

 

6 

6 

 

8 

11 

 

12 

6 

 

8 

 

11 


